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The figures in the margin mdxcate fllll marks
: - for. the questxons S

“1. .- Multiple chonce questions : - JEURRTRS 1x6=6 ’
(i) Match the important words in the definition of
“optimum population® wnth the scholars who

- gave th )
(@) Bouldmg (i) Maximum economic
| growth
~ (b) Dalton ~  |(ii) Maximum standard of
| living
() Peterson  |(iii) Maximum social
' welfare '
(d) Car Saunders|(iv) Maximum income per
head

[Turn over




( l) a-iv, b-lll, c'lls di (2) a-u, b-lV 0-1, i

(3) a-ii, b-lll, c'lv, d'l (4) a'lll, b-l, c-1v d-u

(u) Assertlon (A) Fertlhty is dechmng in non-

| conu'aceptlve populatlon

. Reason (R) : Better empowermem of women

- in the country.
".Co‘des :

" (@) Both (A) and (R) are try
correct exp]auon of (A) ¢ and (R) '1s ‘h‘_‘

- (b) Both(A)and(R)aretru b
emplanauon of(e )“t (R) isnot the

@ (A)lstrue but(R)lsfalse
f @ (A)is false, but(R),stme

- (iif) Wlnch one among the followm
 number of children an average
-in her reproductxve Spau ?

() Fetiliy (5 Fmduy .

Woman can bear
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- Answer all the questlons

3“”“Dreﬁnsto f

* (iv) Ifa settlement have to be efficient and capable B

 with good transport service it must follow __
(a) K=3 () k=4
€ K=7 ° (@ K=l

- (v) Multiple nuclei theory of cities morphology was

~ devised by
(a) E.W.Burgess (b) H. Hoyt -
* (¢) PeterMann . @+ Harris & Ullman
(vi) Nekoplis means ____
(a) Largecity (b) Tyranmcal city |
(c) Dead city | (d_) Rising village.
2x5=10

| @) What is the difference between Populatlon | B

Geography and Demography ?
(i) What do,you mean by dependency rétio ?

(iii) What is the basic difference between crude birth
rate and genieral fertility rate ?

(iv) What do You mean by bulk of break clty ?
V) What do you mean by ‘Polls ?
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3. - Answeranykixbfthe fOIIOWing-iquesﬁons C 1 4

' 5x6=30

() Explain in detail the E

. gyptian' -
population resource region, - . .‘t}'pe of

- G Whiat is population migratiop

. 7 Desciibe the
*_facrtors affecting migration, ,'es_cnbe the

(iif) Classify stagés of growth
- presented by Mumford or Patrick Geg des

© (iv) What is Rank size rule 7 - -

(v) Elaboréte,the ¢oncept Ofundéf = L

* optimum population, .. pop ulatlon and

"'(vi)"Brieﬂy.explain the factofs affectin

and d#nsity-of world populati, n. ?Wbuﬁon

(vii) What do you mean b

and decay 6f cities -

* - Examine critically the theory of demographic .~
- transition and bring out ts relevance ‘t% f:il;(.) |

(ii) What do you mean by settlement ? Classify

urban and rural t based on relevent - -
and al settlement basec 2444410

criteria.

(iii) Explain the growth of urban settlement across

‘ oy the followin questions: .- . "
Answ eranytwo‘ofth‘? o“ 4ng T 10x220

the globe after industrial revolution. 10 e

. Answer any one of the following questions : _-
| -' R - 14x1=14

. Explain in detail the determinants of age .

composition of a region with few exampl.es.
How age pyramid s useful in understanding
g composition and analyzing demographlc
transition of 5 region ?

SR y CBD*iﬂ urban | | _
Asettle'm.ex‘lt?_: . S TP I urban (if) Explain different morphological pattern ofa
T R o city with various criticism that arised with -
(viil) How does settlement geograppey o | - different morphological patterns. Give suitable
idea Q_f locﬁ!on,'sue and SitUation ok towards S diagrams witp, the answer. 6+5+3%-714
(ix)In short»elabbrate Nature » ' | ‘
. population geography. - "0 S¢0Pe of
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